PROPOSAL

TO THE BOARD OF PUBLIC WORKS AND SAFETY, CITY OF LAWRENCE, INDIANA

Pursuant to legal notice that the Board of Public Works and Safety, City of Lawrence, Indiana, will receive sealed proposals for the construction of the following:

2025-1 RESURFACING IMPROVEMENTS

01 Geist Valley Subdivision (INDOT Des. No. 2500225)

02 52nd Street from N German Church Road to Sandwood Drive (INDOT Des. No. 2500227)

03 Fairways East Subdivision (INDOT Des. No. 2500226)

04 Carroll Road from Pendleton Pike to 79th Street (INDOT Des. No. 2500228)

CITY OF LAWRENCE, INDIANA

CITY OF LAWRENCE, INDIANA

The undersigned having familiarized themselves with local conditions affecting the cost of the work, and with the Contract Documents, including Proposal, Form of Contract, Bond Forms, Plan Specifications, and Addenda Exhibits, issued and attached to the Specifications on file in the office of the City of Lawrence Director of Public Works, 9001 E. 59th Street, Suite 205, Lawrence, Indiana 46216, hereby propose to perform all work and services required to be performed and to provide and furnish all labor, materials, necessary tools, machinery, equipment and other means of construction necessary to perform and complete in a workmanlike manner within the time prescribed and under the supervision and direction of the Owner or their duly authorized representative and pursuant to the terms of the performance bond filed herewith in the amount of not less than one hundred percent (100%) of the total amount of this Proposal, for the net prices given on the attached Itemized Proposal, and to prosecute the work so as to complete the Contract by May 26, 2026. The undersigned has submitted a certified check, bank draft or satisfactory bond in the amount of five percent (5%) of the total amount of the Proposal; filled in the Itemized Proposal with unit price for each item listed; has executed the form of contract filed herewith as part of this Proposal, which execution shall be regarded as the signing of the Contract for the proposed work, to be in full force and effect from date of signatures of the Board of Public Works and safety, City of Lawrence, Indiana. The undersigned has also properly executed the Non-Collusion Affidavit filed herewith, as well as his Plan and Equipment Questionnaire on the form prescribed by the State Board of Accounts,

Witness our hand this 9th	day ofApril	
DATE: April 9, 2025	NAME:	Howard Asphalt LLC dba Howard Companies
	ADDRESS:	2916 Kentucky Ave
		INDF/LS/IN 46/221
	BY:	<i>H D</i>
		4/

Summary of Bid for 2025-1 CCMG Resurfacing Improvements in the City of Lawrence

CCMG Application Number (Priority)	PROJECT LOCATION	BID AMOUNT
01	Geist Valley	\$ 692,261.50 -
02	52nd Street	\$ 366.819.85 -
03	Fairways East	\$ 244,428.65 -
04	Carroll Road	\$ 436,420.65 -
TOTAL C	ONTRACT BID	\$ 1,739,930,65 -

Insert your unit price for each pay item in the appropriate cell for each separate project (separated in Tabs on Excel sheet provided)

Total Amount for each item will be automatically calculated

"BID AMOUNT" in Summary table above will be automatically calculated

The low bid will be determined by the "TOTAL CONTRACT BID" shown on the Summary above

ITEMIZED PROPOSAL 2025-1 RESURFACING IMPROVEMENTS 01 Geist Valley Subdivision

		ITEM	UNIT	QUANTIT	UNI	T PRICE	 AMOUNT
1	105-06845	CONSTRUCTION ENGINEERING	LS	1.00	\$	1,680.00	\$ 1,680.00
2	110-01001	MOBILIZATION AND DEMOBILIZATION	LS	1.00	\$	2,275.00	\$ 2,275.00
3	202-02279	CURB AND GUTTER, REMOVE	LFT	140.00	\$	18.50	\$ 2,590.00
4	202-52710	SIDEWALK CONCRETE, REMOVE	SYS	290.00	\$	17.50	\$ 5,075.00
5	214-12456	GEOTEXTILE FOR PAVEMENT, INTERLAYER	SYS	38001.00	\$	5.50	\$ 209,005.50
6	304-12623	HMA PATCHING FULL DEPTH, TYPE B	TON	439.00	\$	129.25	\$ 56,740.75
7	306-08034	MILLING, ASPHALT, 1 1/2 IN.	SYS	21755.00	\$	2.10	\$ 45,685.50
8	306-08042	MILLING, SCARIFICATION	SYS	17176.00	\$	1.50	\$ 25,764.00
9	401-10258	JOINT ADHESIVE, SURFACE	LFT	10319.00	\$	0.75	\$ 7,739.25
10	401-99999	HMA SURFACE, TYPE B	TON	3135.00	\$	88.50	\$ 277,447.50
11	406-05520	ASPHALT FOR TACK COAT	TON	10.00	\$	1.00	\$ 10.00
12	604-06070	SIDEWALK, CONCRETE	SYS	140.00	\$	76.50	\$ 10,710.00
13	604-08086	CURB RAMP, CONCRETE	SYS	140.00	\$	135.50	\$ 18,970.00
14	604-12083	DETECTABLE WARNING SURFACES	SYS	21.00	\$	220.00	\$ 4,620.00
15	605-06140	CURB AND GUTTER, CONCRETE	LFT	140.00	\$	43.25	\$ 6,055.00
16	621-06575	SODDING, NURSERY	SYS	140.00	\$	31.00	\$ 4,340.00
17	801-06640	CONSTRUCTION SIGN, A	EACH	6.00	\$	225.00	\$ 1,350.00
18	801-06775	MAINTAINING TRAFFIC	LS	1.00	\$	11,700.00	\$ 11,700.00
19	808-06726	TRANSVERSE MARKING, PAINT, STOP LINE, WHITE, 24 IN.	LFT	36.00	\$	14.00	\$ 504.00
					•	TOTAL	\$ 692,261.50

ITEMIZED PROPOSAL 2025-1 RESURFACING IMPROVEMENTS 02 52nd Street from N German Church Road to Sandwood Drive

		ITEM	UNIT	QUANTIT	UNI	T PRICE		AMOUNT
1	105-06845	CONSTRUCTION ENGINEERING	LS	1.00	\$	1,680.00	\$	1,680.00
2	110-01001	MOBILIZATION AND DEMOBILIZATION	LS	1.00	\$	2,275.00	\$	2,275.00
3	202-02279	CURB AND GUTTER, REMOVE	LFT	190.00	\$	18.50	\$	3,515.00
4	202-52710	SIDEWALK CONCRETE, REMOVE	SYS	380.00	\$	17.50	\$	6,650.00
5	304-12623	HMA PATCHING FULL DEPTH, TYPE B	TON	176.00	\$	129.25	\$	22,748.00
6	306-08037	MILLING, ASPHALT, 3 IN.	sys	15,204.00	\$	2.90	\$	44,091.60
7	401-10258	JOINT ADHESIVE, SURFACE	LFT	2,193.00	\$	0.75	\$	1,644.75
8	401-99998	HMA INTERMEDIATE, TYPE B	TON	1,254.00	\$	81.00	65	101,574.00
9	401-99999	HMA SURFACE, TYPE B	TON	1,254.00	\$	88.50	\$	110,979.00
10	406-05520	ASPHALT FOR TACK COAT	TON	4.00	\$	1.00	\$	4.00
11	604-06070	SIDEWALK, CONCRETE	SYS	190.00	\$	76.50	\$	14,535.00
12	604-08086	CURB RAMP, CONCRETE	SYS	190.00	\$	135.50	\$	25,745.00
13	604-12083	DETECTABLE WARNING SURFACES	SYS	10.00	\$	220.00	\$	2,200.00
14	605-06140	CURB AND GUTTER, CONCRETE	LFT	190.00	\$	43.25	\$	8,217.50
15	621-06575	SODDING, NURSERY	sys	190.00	\$	31.00	\$	5,890.00
16	801-06640	CONSTRUCTION SIGN, A	EACH	10.00	\$	225.00	\$	2,250.00
17	801-06775	MAINTAINING TRAFFIC	LS	1.00	\$	11,700.00	\$	11,700.00
18	808-75297	TRANSVERSE MARKING, THERMOPLASTIC, STOP LINE, WHITE, 24 IN.	LFT	34.00	\$	14.00	\$	476.00
19	808-75320	PAVEMENT MESSAGE MARKING, THERMOPLASTIC LANE INDICATION ARROW	EACH	1.00	\$	645.00	\$	645.00
						TOTAL	\$	366,819.85

ITEMIZED PROPOSAL 2025-1 RESURFACING IMPROVEMENTS Fairways East Subdivision

		ITEM	UNIT	QUANTITY	UNIT PRICE	AMOUNT
1	105-06845	CONSTRUCTION ENGINEERING	LS	1.00	\$1,680.00	\$ 1,680.00 -
2	110-01001	MOBILIZATION AND DEMOBILIZATION	LS	1.00	\$2,275.00	\$ 2,275.00 -
3	202-02279	CURB AND GUTTER, REMOVE	LFT	190.00	\$18.50	\$ 3,515.00 -
4	202-52710	SIDEWALK CONCRETE, REMOVE	SYS	190.00	\$17.50	\$ 3,325.00 -
5	304-12623	HMA PATCHING FULL DEPTH, TYPE B	TON	190.00	\$129.25	\$ 24,557.50 -
6	306-08034	MILLING, ASPHALT, 1 1/2 IN.	SYS	16,514.00	\$2.10	\$ 34,679.40 -
7	401-10258	JOINT ADHESIVE, SURFACE	LFT	4,645.00	\$0.75	\$ 3,483.75 -
8	401-99999	HMA SURFACE, TYPE B	TON	1,363.00	\$88.50	\$120,625.50-
9	406-05520	ASPHALT FOR TACK COAT	TON	5.00	\$1.00	\$ 5.00 -
10	604-06070	SIDEWALK, CONCRETE	SYS	95.00	\$76.50	\$ 7,267.50 -
11	604-08086	CURB RAMP, CONCRETE	SYS	95,00	\$135.50	\$ 12,872.50 -
12	604-12083	DETECTABLE WARNING SURFACES	SYS	29.00	\$220.00	\$ 6,380.00 -
13	605-06140	CURB AND GUTTER, CONCRETE	LFT	190.00	\$43.25	\$ 8,217.50 -
14	621-06575	SODDING, NURSERY	SYS	95.00	\$31.00	\$ 2,945.00 -
15	801-06640	CONSTRUCTION SIGN, A	EACH	4.00	\$225.00	\$ 900.00 -
16	801-06775	MAINTAINING TRAFFIC	LS	1.00	\$11,700.00	\$ 11,700.00 -
					TOTAL	\$ 244,428.65 <i>-</i>

ITEMIZED PROPOSAL 2025-1 RESURFACING IMPROVEMENTS 04 Carroll Road from Pendleton Pike to 79th

		ITEM	UNIT	QUANTITY	UNIT PRICE	AMOUNT
1	105-06845	CONSTRUCTION ENGINEERING	LS	1.00	\$1,680.00	\$ 1,680.00 -
2	110-01001	MOBILIZATION AND DEMOBILIZATION	LS	1.00	\$2,275.00	\$ 2,275.00 -
3	202-02279	CURB AND GUTTER, REMOVE	LFT	20.00	\$18.50	\$ 370.00 -
4	202-52710	SIDEWALK CONCRETE, REMOVE	SYS	20.00	\$17.50	\$ 350.00 -
5	304-12623	HMA PATCHING FULL DEPTH, TYPE B	TON	145.00	\$129.25	\$ 18,741.25 -
6	306-08037	MILLING, ASPHALT, 3 IN.	SYS	12,571.00	\$2.90	\$ 36,455.90 ₋
7	401-10258	JOINT ADHESIVE, SURFACE	LFT	5,550.00	\$0.75	\$ 4,162.50 -
8	401-99998	HMA INTERMEDIATE, TYPE B	TON	2,074.00	\$81.00	\$167,994.00 -
9	401-99999	HMA SURFACE, TYPE B	TON	2,074.00	\$88.50	\$183,549.00-
10	406-05520	ASPHALT FOR TACK COAT	TON	4.00	\$1.00	\$4.00 -
11	604-06070	SIDEWALK, CONCRETE	SYS	20.00	\$76.50	\$1,530.00 -
12	604-08086	CURB RAMP, CONCRETE	SYS	20.00	\$135.50	\$2,710.00 -
13	604-12083	DETECTABLE WARNING SURFACES	SYS	3.00	\$220.00	\$660.00 ₋
14	605-06140	CURB AND GUTTER, CONCRETE	LFT	20.00	\$43.25	\$ 865.00 -
15	621-06575	SODDING, NURSERY	SYS	20.00	\$31.00	\$ 620.00 -
16	801-06640	CONSTRUCTION SIGN, A	EACH	10.00	\$225.00	\$ 2,250.00 -
17	801-06775	MAINTAINING TRAFFIC	LS	1.00	\$11,700.00	\$11,700.00 -
18	808-75297	TRANSVERSE MARKING, THERMOPLASTIC, STOP LINE, WHITE, 24 IN.	LFT	36.00	\$14.00	\$ 504.00 -
					TOTAL	\$436,420.65 -

ITEMIZED PROPOSAL

This Itemized Proposal is for the following project being bid by the Board of Public Works and Safety, City of Lawrence, Indiana:

2025-1 RESURFACING IMPROVEMENTS

01 Geist Valley Subdivision (INDOT Des. No. 2500225)

02 52nd Street from N German Church Road to Sandwood Drive (INDOT Des. No. 2500227)

03 Fairways East Subdivision (INDOT Des. No. 2500226)

04 Carroll Road from Pendleton Pike to 79th Street (INDOT Des. No. 2500228)

CITY OF LAWRENCE, INDIANA

TOTAL(S)

\$ 1,739,930.65

	ety reserves the right to reject any or all proposals and to waive item or items, and to award a contract based on the bid that wrence, Indiana.
lowest total bid amount. The Board any proposal, to waive technicalities award a contract on the proposal Lawrence, Indiana. The Board of Pu	ety intends to make the award on this contract based upon the pard of Public Works and Safety reserves the right to reject or irregularities therein, to delete any bid item or items and to I that in their judgment is most advantageous to City of ublic Works and Safety also reserves the right to add and/or engthen project limits, based upon funding requirements and
NAME OF FIRM:	Howard Asphalt LLC tha Howard Companies
AUTHORIZED SIGNATURE:	4
STARTING DATE:	As Directed by Owner

As Directed by Owner

TOTAL BID AMOUNT

COMPLETION DATE: